Simultaneous Equations I (just add or subtract)

Calculator not permitted.

Solve the following equations:

3z 42y =11
r—2y=1
or + 2y = 28
—Hx +6y =4
2 —y=4
Sx+y =24
-3z 45y =15
Jx+y=21
r+3y=19
dr—3y =1
—3r+2y==6
3z + 5y = 36
6xr —5y =29
2z + by =23
-2z +5y =13
2r4+3y =11
r + 6y = 32
—r+2y =238
4o +y =27
3x—y =15
z+3y =13
—r+by=11
6x —y =28
3x+y =17
T+ 2y =12
3z + 2y =16
3z —4y = —18
r—4y = —22
2z 4+ by =12
20+ 3y =28
20 — 3y = -3
5t — 3y =26
2z +3y =11
T+3y="7
z+2y=11
rz+3y=15

-3z +4y =13
—3x+2y=>5

2x+ 5y =34
2z 4+y =10
3z + 2y =16
3z + 4y =26
dr +y =10
2r4+y=26

dr —y =16
6x —y =26

o + 4y =49
5x + 3y = 43

3x — by = 36
3z —2y =18
or + 4y =29
r—4y=1
6 —y =18
dr —y =10
5r — 2y =27
3z +2y =13
4o + 3y = 22
4o +y =18
—6x + 5y =39
—dzr —by =1
6x + 5y = 16
z+5y=11
or + 2y = 22
:E—2y—2
—r —2y=
—z — 3y =
r4+y=12
5:E—y— 24
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